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Part-B - General Studies (Degree Standard)

efleormé&eir :101- 200 @& s LS S&6IT : 150

Questions:101- 200 Total Marks :150

101. What are the characteristics of “rote learning” ?

(i) Does not allow the learner to associate himself / herself
with the surroundings.

(ii) Infuses rigidity in the thinking process.

(iii) Allows the learner to dynamically adapt to the changes in
the surroundings.

(iv) Improves the questioning ability.
[A] (iii) only [B] (i) only

[C] (i), (ii) and (iv) only [D] (i) and (ii) only

[E] Answer not known

QurmEneamymosd spnasEhu Larlludyse wrame ?

(i) spual saamad apflyeer GRCaTH eEHEslmarsg CawdUL
Sj@wsliuglodame.

(i) ApgéEw Yapuled @nésorar ambean 2L LGS38Ing.

(i) spuaers gpBlaa&tCsiu A5M_THg 25Causwnss saaman wrHilés
Qanarer Hesl&8ID3).

(iv) Gaerall CsL@bd glpamar Hy8aMs8)pg).

[A] (i) bLEW [B] (i) wLpw

[C] (i), (i) wpgd (iv) LGB [D] (i) whmed (if) wLE

[E] afleL Qgflwallcdena



102. Which one of the following is the best anti-dote to
superstitious beliefs?

[A] Scientific Knowledge.
[B] Scientific temper.

[C] Untested and un-proven knowledge.

[D] Strong faith in the long held ideas.
[E] Answer not known

Naaumaaapiled pL pollsmssgmssna s afluoter agli LEHS a8 ?
[A]  gmlallue Syley.
[B] yflallwéd wariunbe.
[C] guase 2 upssiuig whpw Bedésiung ey.

[D] FeaiL srewrs @HHg @ aarartsede Bsrer HuLéms.
[E] allo Ggflwalldena

103. What are the characteristics of “Scientific temper” ?
(i) Questioning others’ ideas irrespective of their social position.
(i)  Analyzing others’ opinions.
(iii)  Applying logic.

(iv) In view of others’ social position, accepting their ideas without

questioning or analyzing them.

[A] (i) and (ii) only [B] (ii) and (iii) only

[C] (iv) only [D] (i), (ii) and (iii) only

[E] Answer not known



Siflaflwe wariurtiglar uerluoyser wrene ?
() wppaisalar smsgssmer Jyeaufsalar saps Bl
QurBLupdsmoed Caerallsgarerns@eug).
(i) wppansaear smigssmer ugLumie Gsdeug).
(i) sréssms LWL 6uS).
(iv) vppefsdlear smsgssmar Jeafsallar saps plaaular snyarons
Caarall CaLlamogd, LGLLMe) Qelwumdgd gomé Gsreag.
[A] (i) wpmd (i) wLEWL [BI (i) wpmwd (iii) wLEGW
[C] (iv) wlEwb [D1 (i), (ii) whmbd (iii) wED
[E] ol Qgflwalldena

104. The reason behind the spectacular brilliance of diamonds
and twinkling of stars is:

[A] Total internal reflection [B] Total external reflection

[C] Partial reflection [D] None of the above

[E] Answer not known

e sarmears saur 0grafliugpe, allarbarae WldgauspEh smmemb :
[A]l w© S8 aglaymefliy. [B] @ up aslQrrefliy.

[C] u@Es agl@yrefliiy. [D] Cupsamlu aamawn Gaodame.
[E] afle Qgflwallcdena



105. Assertion(A):

Reason (R):

Some sea turtles (loggerhead turtles) return to their birth

beach many decades after they were born to nest and lay

eggs.

The turtles can perceive variations in magnetic parameters
of Earth which memory helps them in returning to their

homeland

[A] (A)is true, (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation

of (A).

[C] (A) is false (R) is true.

[D] Both (A) and (R) are true , but (R) is not the correct explanation

of (A).

[E] Answer not known

apgy (A):

smyemd( R ) :

flo 5L Yewsd @rsfhan. sLd yeow yoma Lphps
sLpsorGum ue  yarhsEmsgu  Upgw e
wLeoLwlpglamner.

Symwsar gusag Unss sLpsmraus sarLflu yallésms
o MUUBIEED eaad (wepows asurEslapar. Qb
Sy amwsar LaGan Qs smhslymaalmbamu Klamealld
Qsmar@nd SO oamLweme. @ oma FTWESINGS
FlooyasHE 250i8pg.

[Al  (A) &1fl, speormeb (R) sau.

[B]  (A) wpgd (R) @rawid &ifl, Coevitd (R) etettugy (A) alli@
sflurer aflaréswngLw.
[C] (A) saup, speommed (R) &I

[D]  (A) wpgd (R) @rem@i &), syeummed (R) tedrug (A) allpg sflwrer

NG

[E] allo @gflwalldena



106. If a single nail pricks our body, it is very painful. How it is
possible for the people to lie down on a bed of nails and

still remain unhurt ?

[A] Because the area of contact is the same.
[B] Because the area of contact is less.

[C] Because the area of contact is more.

[D] None of the above.

[E] Answer not known

Ap el pog eLmed gamsgd Curgy adlou earmdlCpmd. gyeamed for
&l uhsmsuled LRSSTYL JyaursEnéE apsl urgliyd ghufaglomabu -
erLiug?

[A] gQarafld gyger Qgm( LpLy &owb.

[B] gQarafld gger Qgn® upliy @mpey.

[C] gQarafld gyger Qgm@ Ll IFsLW.

[D]  Cuopaflu agejslodme.

[E] allae Qsflwafldeame

107. When you go for a ride in a merry-go-round in amusement
parks, you will experience an outward pull as merry-go-

round rotates about the vertical axis. The reason for this is.
[A] Centrifugal force [B] Centripetal force
[C] Straight line force [D] Circular force

[E] Answer not known



QurgGursel yrsralld oL @rrigassled aipwburg, oL @rrigemd @
Qeiigss SFmsliupm aspad Gurg, Bmd @@ OQeelCpréslu gasudld gpu@b
Quellmseaw 2ariglComd. ysnsner sryambd ag ?

108.

[A]  avw alese allams [B] eww Cprég aflms
[C] CprCar @ allans [D] a&pnd aflens
[E] afle Qgflwallcdena

The element which is a constituent of chlorophyll and gives

green colour to the leaf of plant is :

[A] Sodium [B] Copper
[C] Potassium [D] Magnesium

[E] Answer not known

srardslar Qeesd usms Flpwrs QMUUSHGS smremwoner, STaFssler
LEmELGS1e) 2 arer 2 CanaLd :

109.

[A]
[B]
[C]
[D]
[E]

[A]  Gamgwd [B] smdlywd
[C] QurlLrélwd [D] Qudeardlwbd

[E] aflo Qsflwallcdema

Recently we read in newspapers about the GM crops. What is the
full form of GM ?

Genetically Marketed.
Genetically Modified.
Green and Moisturous.
Globally Marketed.

Answer not known



Saranulle prd Asigls sraiselld GM Luljsdr grldg L3 HLGLMD.
GM aarugar aflflandsw eeren?

[A]  wruay FEluns FHamELLEHSESD.

[B] wruey wrHmuULL

[C] u&ewL YYD FL.

[D] ewseamallu shmsliLbsssw.

[E] eflor Qsflwallcdeme

110 The Nobel Prize (2019) for Economics has been awarded to
Dr. Abhijit Banerjee and two others for their experimental approach
to:

[A] Eradicate black money.

[B] Strengthen the International Monetary Fund (IMF).
[C] Eradicate gender bias at work place.

[D] Alleviate global poverty.

[E] Answer not known

2019 - yeargar Qunmermsrysslnater Grrud ufls Dr. Ulgls urearig)
ohgn  QEHanse Saisay abs  Csfamie @mewepula  QurrLE

m@@&ﬂuLng?

[A]  spuyl uem @uliy.

[B] uararml( uam BlZlwsms aibup Csse.

[C] Camo Gaiyd @isals urdlar urgurlaL @ulsseo.
[D] ewsarallu agembau LLALUESSW.

[E] eflor Qsflwallcdme

111. The Tamil film “Asuran” is based on the acclaimed novel "“Vekkai”.

The author of the novel “Vekkai” is :

[A] Su. Venkatesan
[B] Konangi

[C] Poomani

[D] Choodamani

[E] Answer not known



112.

sUpé Herl uLwrer 'Sara YspAupy 'Qasms ' aab Llasms

SlglumLwnss QsrarLsn@h. Qausms ' aaub yslasgar o dfluf :

[A]
[B]
[C]
[D]
[E]

&. QeumaGLaen
Canammia)

wanf]

LMo enf)

alln @5flwalldena

The telephone number allotted for 24 hour “Women Helpline” in
Tamil Nadu for immediate and Emergency response to women
affected by violence is :

[A]
[B]
[C]
[D]
[E]

108
181
888
208

Answer not known

SUPBT IS acipepured LZlésuupy Quersenég 24 wefl Crrwb oL e eusy
eg5all aprs ayfl ams Qeliyw Csraabud] egalld SILLsslnars @gissuL (erer
QsrenaGud erar :

[A]
[B]
[C]
[D]
[E]

108
181
888
208
alln @5lwalldene



113. According to "The Sexual Harassment of Women at workplace
(Prevention, Prohibition and Redressal) Act -2013", sexual
harassment includes :

(i) Physical contact
(ii) Making sexually coloured remarks

(iiif) Demanding sexual favours

(iv) Showing pornography

Which of the above is/are true?
[A] (i) only

[B] (i) and (ii) only

[C] (ii) and (iii) only

[D] All the above

[E] Answer not known
ueflfl_isafled QuenaEhé@ aglyrar uraflud genssed ( SEUY, oL wHyL Siay)
sULb 203-@ar g LTl HELYEED aaud Qendd o drar_adlug :

(i) 2Lmad QFTHH

(i) gursd sabs graLiGLEs

(i) uraflued Caeneusanar BlenpGeupn eudLimISE)se

(iv) QUL LLEs@maSE STL(\ge

Cupsamr_apper sflurag)/ma ag/ame ?
[A] (i) LLEL

[B] (i) LMMID (ii) L GLD

[C] (ii) WHmib (iii) L HLb

[D] CMIFamil Sien6ursGILD

[E] efloL Qsflwallcdeme



114. Which one of the following is not the aim of ‘Digital India’ ?

115

[A] Paperless governance

[B] Person less governance

[C] Encouraging intermediaries
[D] Cashless governance

[E] Answer not known

Spsar_appd ag tglLd @glur-aflar Cpréan ehe?
[A] &18)51D Qadars Iy Ehms.

[B] weflgiadt @aans oy eHms.

[C] @eLsrsiaemen 2as@allsse.

[D] uamsldans oy eHmas.

[E] aflen Qgflwelldene

The port of India which has quick access to Suez Canal is :

[A] Mumbai
[B] Kochi

[C] Chennai
[D] Kolkata

[E] Answer not known

gwad sraarawu Gopps Corssla QeapaLyn paould Hyamwbgeda QbHslwus
gepWsL ag?

(A)  (pbenL

(B) Qsn&é

(C) Qaerener

(D) Qaresssn

[E] eflor Qsflwallcdme



116 In human races, which race is said to constitute “"white people” ?
[A] Australoid Race
[B] Caucasoid Race
[C] Mongoloid Race
[D] Negroid Race

[E] Answer not known

vafls Qamisalle aps Gard 'Qaudiaruisd’ aaLaismas Qanei.Gsps|?
(Al Seblprani@) Qe

(B] srssni@) Qe

[C] uwrRCstomif) @arbd

[D] paéymip Gend
[E] el Gsflwalldea

117. The largest tribal group in India is :
[A] Nagas
[B] Todas
[C] Santhals
[D] Gonds

[E] Answer not known

@iglurafler Wl Quilu LPkEs Gend :

[A] Br&T&er
[B] Gariaen

[C] s&Mhges&aT
[D] Ganer(paer

[E] eflor Qsflwallcdme



118. Identify the place in Tamil Nadu where Mangrove forest

119.

absent :

A) Pitchavaram

B) Kodiakkarai

O Vedaranyam

D) Mamallapuram

E) Answer not known

SUIPEML I sZUUD@E sTRsd Jemowultuprs QLims JenLwunend sreis:

A)
B)
C)
D)

E)

L &smaurld
GCamgwasay
CeugmyanrLd
LOTLOQQLYIFLD

aflan Qsflwalldene

Which of the following is responsible for the continental
climate of North India ?

A) Vertical rays from the Sun.

B) Slanting rays from the Sun.

O Its location away from seas.

D) Its location on the plains.

E) Answer not known

aL @bglurefled Hlaaw sai sroplaasg Spsai ag smyemors
2 aiang)?

A)  gfluallLdmbg Qengss 887 eléa

B) @fluallLlimpg snieyssslyalas

C) sLasmaallL() allad) ymwbgea @6 yamwallLib
D) ewQaeflad Barar @sar ganwallLLd

E) afleL Qgflualldena

is



120. The fast flowing river mouths have this landform :

A) Delta

B) Estuary

O Alluvial Fan

D) Meander

E) Answer not known
Caus W@glyLear umyn omsé sylpsiugslsa @pplas Comppsglmens
Q& rewr(peraren :

[A] Qren

[B] Qumii@b s

[C] aairLa allflgemp
[D] Qpeflwrgy

[E] eflor Qsflwallcdeme

121.

Which factor/s led to the emergence of towns in the Gangetic
plains ?

(i)  Agricultural surplus
(i)  Growth of crafts.

(iii) Growth of trade.

(iv) Growing population.

[A] (i) only [B] (i) and (ii) only
[C] (ii) and (iii) only [D] All the above.

[E] Answer not known



shanaé swbaeflufle parmiser Cane a;rrumrmrrmgj/mm crgj/crmeu ?
(i)  Geuermewr 2
(i)  masQsmflesefler aueryés
(iii)  euanflagglen euenjae)
(iv)  QumalsQsanaiymbs was6 Cgrans
[A] (i) L [B] (i) wpmbd (i) wLED
[C] (i) wpmb (i) wLED [D] CGuCewear IyemensgLb
[E] el Qsflwallcdena

122. Jaina influence is strong in early Tamil literature. Which one of

the following is not a jaina work ?

[A] Naaladiyar [B] Pazhamozhi

[C] Jivakachinthamani [D] Manimekalai

[E] Answer not known

uprstes sl Qesslusgld swar FowSlar  FTESD QEANs 6.
Spssar_apged soar Qasalud Jdwsg g ?

[A]  praguwmy [B] wypQumg)

[C] s éfgmoenf [D] weflCosme
[E] afleL Qzflwalldena



123. Which one of the following is not correct about Buddha ?

[A]
[B]

[C]

[D]
[E]

He did not mention about God.

His teachings are full of descriptions about God.
He did not accept inequality based on one’s birth.

He neither accepted nor denied the existence of God.

Answer not known

Spéser_apged Usserd upflu saprer sy g ?

[A]
[B]

[C]

[D]

[E]

e sLayener upefl GPludlLalldena.

Jaumeni Curgenerser Jymarsgid sLajemers Lpmlw
QUHETEETSEMaTS 08Ty (b S 6.

Npifer Qglueufiener sowhy wanaw e
ghns0snearalldena.

SjauT sLeyaflar @mlieu gHnsaserareyslodame
nsssa)ldma.

aflan Qsflwafldeme

124. The rock cut shrines at Ellora and Elephanta belong to the period

of :

[A]

[C]
[E]

Rashtrakutas [B] Palas

Sathavahanas [D] Chalukyas

Answer not known



aaGamm wpg adlduamiLr goLaars Camnfldsd qanmaLu sragmss

EnyHgene ?
[A] pr2digréal e [B] urefser
[C] srsaunsanyser [D] sn@néaluisan

[E] aflene QsPwalleena

125. Who built the world famous " khajuraho ” temples ?
[A] Chalukyas
[B] Chandelas of Bundelkhand.
[C] Rashtrakutas

[D] Bahmini Sultans

[E] Answer not known

2.a&l Uspaupp 'seerrCant ' Canalldamers sluwuafsdr wri 2

[A]  en@néalwiser
[B] upCseaail s5Cseisem
[C] prebigranL e

[D] umdlefl aegnerser
[E] afle Qgflwallddena

126.To which period the great literary works of ' Kamba

Ramayanam” and " Periyapuranam ” belong ?
[A] Chalukyas [B] Vijayanagar Empire

[C] Later Cholas [D] Pandyas

[E] Answer not known



Qua Gesdlull uaLiysemer ‘sbugmomnued' wHL ‘Aufluyyrerd ' o dwena
TH5s sTRELLEMEE srihHEHmau?

[A] sn@péaluisar [B] aflgupsr Guprs
[C] Npsres Cempiae [D] unewngwiser

[E] el Qzflwalldena

127. Who hailed the Pandiyan kingdom as the richest and the most

splendid province in the world ?

[A] Ibn Battuta [B] Marcopolo
[C] Hiuen-Tsang [D] Fa-Hien

[E] Answer not known

uremgw 9rs eaglCatu Wlasaw sdaus AsfliyLgb, HPyswrear HPELab
STELILQL UGZ] eranll LsPmd GLiguef wrj?
[A]l @ular LL@Ln [B] wrj&CanGurCGen

[C] weurer &eurm [D] ureglwrer
[E] aflon Ggflwallcdens



128. Which one of the following Governors of Madras presidency
gave attention to education and regarded any expenditure on it
as an investment for whom a statue was erected at Chennai in

1839 by public subscription ?

[A] John Erskine [B] James Thompson

[C] Thomas Manro [D] Arthur Havelock

[E] Answer not known

Spssragd Qseianer wratew Y Erpiaelled sdallég Eislusgan IelssgLer
ggpatar Qewaflamismer wsdres smIlu gmarfla Pameaarst Qurgwésd
aprslu pglows Osrai@ 1939-gb el Osaamaufled fow FlpaiucLg ?

SjQuf wmj?
[A] snan erfavalan [B] Ggubed smbLieveir
[C] snwebd werGpm [D]  Sy7s Canaiens

[E] afle Qgflwallddena

129. Which of the following is not included in the concurrent list of
the Constitution of India ?

(A) Education
(B) Forest

(C) Police

(D) Trade Unions

[E] Answer not known



Spsai@ereraupper g QsIu Srfluemniys sl Gurgl ulipweld @i

Qupafldena?
(A)  saafl
(B) euand
(C) a&maua

(D) Qsmflpsrsrser
(E) allen Ggflwelldme

130. Who among the following headed the committee established by
the government of Tamil Nadu to analyse and provide
recommendations for restructuring the Centre - State relations ?

(A) Dr. A. Lakshmanasamy

(B) Justice P.V. Rajamannar

(C) Dr. P. Chandra Reddy

(D) Justice R.S. Sarkaria

(E) Answer not known
Spsrariufuaisefled, sUPETH Srs wiZlu wiFle 2paseld wrpprsd Qe
Qsrijurs gyue Qsug, ufligmrsd apred urEL Jyowss Gwalpe smamw
STESlue wny?

A o] g.adwearss

®)  palursy U.afl.prgweren

©) (peereai L.ebglyr Qi

0)  BElursy gyi.aed.srdanflun

E) el Ggflualldma

131. In which of the following cases, the Supreme Court of India

delivered a landmark judgement regarding the use of Article 356 of
the Constitution ?

(A) Indira Sahwney case.

(B) S.R. Bommai case.

(C) Minerva Mill case.

(D) Kesavanantha Bharathi case.

(E) Answer not known



Irflumewiys siLsglar fley 356-g uweau@sgeg Ostjurs 285 pIlwepd
aprdlu s paalusged anips Siiy Spssrayd abs apssld apRsILLLE?

132.

A
B

(A)
(B)
(€)
(D)
(E)

(a)

(b)

@islyr nCear aups@
aa. Q. Gumben apsE
Blareur e aupse
Casananys LTSl apéE
allan Qsflwalldema

Villages were classified according to size and mode of
habitation in Jain and Buddhist literature.

The religious orders founded by Buddha and Mahavira
observed highly democratic procedures in arriving at decisions.

Which of the above statements is / are true ?

(A)
(B)
(®)
(D)
(E)

(a) only.

(b) only.

Both (a) and (b).
None of the above.

Answer not known

(a) svewr wIYL sy Qosslumselad HApprised Jeupdlar yarey, adlifgger
sarenn gy aluapdler SygluamLud amsliu@ssLulLar.

(b) yssr womw wapreiyyred CampmellésiulL sow Qpfad Yyesmar T (Raugld
CuowulL gapnus alflpapsamad seaLLiflysger.

Cuba srariu@b spgsde sflurag/ma g / ama?

(A)
(B)
(C)
(D)
(E)

(a) wLEW.
(b) WLED.
(a) LD!DQ]Lb (b).

CuopseairL ereeuwjisdeame.

afln @5flwalldene



133. The Gram Sabha meetings are held four times in a year. Which one
of the following is not among the four dates ?

134.

(A)
(B)
(®)
(D)
(E)

January 26
May 1
November 14
August 15

Answer not known

Alpno Faus SLLESH gealar® S arQn prag wap prdslubsleapea. £Cyp
QarQésuuLaarapper sl FenlOup aeruNESIULTS FreTr ag?

(A)
(B)
(®)
(D)
(E)

aaafl 26

Gw 1

BeulbLir 14

QY EaL 15

aflan Qsflwalldene

Recently, the State of Jammu and Kashmir was bifurcated into:

(A)
(B)
(®)
(D)
(E)

Jammu & Kashmir as State and Ladakh as Union Territory.
Ladakh as State and Jammu & Kashmir as Union Territory.

Both Jammu & Kashmir and Ladakh as States.

Both Jammu & Kashmir and Ladak as Union Territories.

Answer not known

Sarenwufld, g & arehdy wrFlaw @rer@ ugglseamsl NflésiuLg. e :

oW & 128y wrFlowLrsab, ALTE @aflu 9 EFmasELULL UGS WTsejwb.
QLS wIFlebrsab, oy & srkly eamflu o E@asEL ULL UGS WMGaD.
oY & st wHYb LG Yl Grarhd wIKems6msa]Lb.

oy & &gt wppw aLtE YElu @rarEl ey I EHMmEsELILLL
LGS samaayLo.,

allan Qsflwalldene



135. i) “Panchayat Raj” is the most important revolutionary step in the

context of governance of rural India.

ii) The foundation of “"Panchayat Raj” was laid by our first Prime
Minister Pt. Jawaharlal Nehru at Nagaur in Rajasthan.

(A)
(B)
(®)
(D)
(E)

(a)

(b)

(A)
(B)
(C)
(D)
(E)

Which of the above statement/s is / are true ?

(i) only.

(i) only.

Both (i) and (ii).
None of the above.

Answer not known

wrps  @pSluraller L AE  Gald “ugsmtusgy grg” aeug s
pédlworer YrLélar pLeugE@msWIGL.

prgabgner wiplesgle eerer praflad pog @wsed Loy gl pauapiered
Com Safsamed “ugstugg rR”  yeoulpsrer  Jrdgemd
SIDWESLILILL ).

Cule srariu@b sppseio sfluras/ma ag / ama?
(i) WLEHL.

(ii) WL (L.

(i) womwb (ii).

CopasearL aemasldme.

alln @5flwalldene,



136. i) Individuals should receive respect and reputation on the basis of their

achievements and talents. It should not be on the basis of their social
identities.

ii) Inequalities and discriminatory practices which prevail in the society are

artificial and are known as prejudices.

Which of the above statement/s is / are true ?

(A) (i) only.

(B) (ii) only.

(C) Both (i) and (ii).
(D) None of the above.

(E) Answer not known.

safl pufser smaserg sngeenser LHML Flpawseflar  JylumLLCatu
parngliy wpmp pHduwerl QupCaemhn. S FPs oL WnaEsaflar
SigiueLufle Qmass sLng.

FWPSTWSSle  Blaoed ghnssmpeser  wHML - UMFULSLIM Bl (WD
Qswpensinearene. IiMal, 2 aT@LEMA  JITWIS  SMTATSSTE  6r(PLd
guCuaTamEser eran Syl wliLGa)arman.

Cule srariu@b apgseis sflurag/ama ag / ama?

(A) (i) L.

(B) (i) L.

(C) () womwb (ii).

(D) CupsaiL aeamauslodama.
(E) afle Qgflwallédena



137. Which organization prepares the estimates on physical
capital formation ?

[A] Central Statistical Organization [B] Census Department

[C] Planning Commission [D] Finance Commission

[E] Answer not known

UGLOUTmE ppesasms walidR Qsiyn el ag?

[A] wsslu yereflullwed Blmeuend. [B] wéser Qsmenas sams@ahlild
glenp.
€] fLsew 0] Plée

[E] afllon Ggflwalldama

138. Match the list I with list II and

select the correct answer
using the codes given below

List I List II

(i) Monetary Policy (a) Bank rate
(i)  Fiscal Policy (b) Margin money

(iii)  Credit Policy (c) Tax rate
[A] i-b, ii-c, iii-a [B] i-a, ii-c, iii-b
[C] i-c, ii-a, iii-b [D] i-c, ii-b, iii-a

[E] Answer not known

uligwed I whgw 1I-g Qurwss) 86 Qsnpésiiul Rerer sflwurer afleLaw
Caey Gawls.

UL igued I UL lguied II
(i) uewd Qaraiens (@) «ms alg
(i)  Bl8ls Qarerens (b) Qmg) Plaaluamrd
(iii)  sLar QsmeTens (€) el all&lgw
[A] i-b, ii-c, iii-a [B] i-a, ii-c, iii-b
[C] i-c, ii-a, iii-b [D] i-c, ii-b, iii-a

[E] afleL Qsfluallcdema



139. Which is /are the objective/s of a sound “"Agricultural Price

Policy”?
(i) To protect the farmers from exploitative practices of private
traders.

(i) To ensure fair prices for the produce of the farmers.

(iii) To ensure adequate and regular supply of agricultural
commodities to the wholesalers at reasonable prices.

[A] (i) only. [B] (ii) and (iii) only.
[C] (i) and (ii) only. [D] (i) and (iii) only.

[E] Answer not known.

aigara Caamaremw aloas Qsrdmsula @lsCand/sd wng)/urama ?

(i) saflunt aefllstseller arar_dsailed @nmbg alasndlsmer urgamiug.

(i) ellasruflsefler 2hussll Qur@HLsErsE plumunrer allme apriGams 2ns
AENE )

(i) Blumuwrer allmaulld Cwrss aamisiseEnse aflasmull GummLsemer
Gungjorer Syerallgid, AsTLiEflursab aptGums 2 nglEsliza.
[A] (i) wLELW. [BI (i) wpgd (i) wLELW.
[C] (i) whgwd (i) wLELD. [D] (i) womwbd (i) wLED.
[E] el Qsflwalldena

140.Which one of the following is a Non-banking Financial Institution ?

[A] State Bank of India [B] Central Bank
[C] Life Insurance Corporation of [D] Indian Bank
India.

[E] Answer not known



fpssar_apfle and yoars K ppeernd ag?
[A] @Bglw edCLL eurmig) [B] ewow amsl
[C] @pglu Spuer srISLRE spsL [D] @pgluer aura)
[E] el Ggflwalldama

141. The Cash Reserve Ratio is fixed by :

[A] Reserve Bank of India [B] Canara Bank
[C] State Bank of India [D] World Bank

[E] Answer not known

Qprés @muy afl&lssems plramud Qeleg:

[A]  @pglw flefel eumid) [B] senpm euiia)
[C] @Bglu eCLL aumsl [D] 208 amg
[E] afle Qsflwalledene

142. What is deflation ?

(1) Increase in the general price level.

(2) Decrease in the general price level.

(3) Stability in the general price level.

(4) Both1land3
[A] (1) only. [B] (2) only.
[C] (3) only. [D] (4) only.

[E] Answer not known



LemaurLL L erenpred ereirer ?

(1) Qurg el LLLD glsfss56.
(2)  Qurg el LLLD Gampge.

(3) Qurg allwa LLLL WIHTSHSS6.

(4) 1 wpmw 3.
[A] (1) wLEuw. [B] (2) wL(w.
[C] (3) wL(uw. [D] (4) wL(uw.

[E] allo @gflualldena

143. Which of the following is / are the objective/s of Monetary
Policy?

(1) Exchange rate stability.
(2) Price Stability.
(3) Full employment.

(4) Economic growth.

[A] (1) only. [B] (2) only.
[C] (2) and (4) only. [D] (1), (2), (3) and (4).

[E] Answer not known



Spésar_apper uansOsarmsuar Crrésn/ Cprésmae ag /| wrame ?

(1)
(2)
(3)
(4)

[A]
[C]
[E]

Bleawrer wrhny aflglsL.
alln@ Flenwggaianio.
LY Cauamaeumiiy.

Qurmertgny euenir&.
(1) wL@w [B] (2) wL(pw

(2) whgn @ v AL [D] (1), (2), (3) whmw (4)
afloL Qgflwalldame

144. Putting money directly into the bank accounts of the poor through
measures like “Jan Dhan Yojana” results in :

[A]
[B]

[C]
[D]

Depletion of scarce resources.

Demand revival and economic growth through “multiplier
effect”.

Increasing corruption.

Maximising government and minimizing governance.

[E] Answer not known.

“oagar FILLb”  Gurap pLaksassella amdlors Cpreurs gapsdlld am#ls
sané@aefley Lamglaans Oeqsgiag as0g aflugse ?

[A] Siflgrer auethisa Ganphgl CurusH®.

[B] Qumés aflmerallar aurufllons GCyane e (eaurdsd whmd Gunmenrsny
aaEd gHupsHE.
[C] eampéd HF\aHLILSHG.

[D] 8l Sjaraflaner JyrsmThEswWd, GonEs erallera Iy Eamsyd goURUSHE.

[E] allan Q5 flwafldene



145. The first attempt at introducing a representative and popular

element in administration was made by:

[A] Indian Councils Act 1892

[B] Indian Councils Act 1919
[C] Government of India Act 1935

[D] Indian Councils Act 1909

[E] Answer not known

pirarssgled Uyglplgsgea wpmd Gurg waser smbs spsamear Sflpan Gy
W5 pupdlurs QuipiulLs L

[A] @pglué seyadlaser s 1892

[B] @iglws seyeifledser siLib 1919

[C] Q58w Syranmiss s 1935

[D] @58lué sayaidlaaer a1 1909

[E] el Qsflwafldeme

146. When was the first time that the British used "Commonwealth”
instead of the usual "British Empire” ?

[A] During Cabinet Mission

[B] During Simon Commission

[C] During Cripps Mission

[D] During Mount George Commission

[E] Answer not known



Sudle ors apssorst vweau@sgn Nk Cuprs aausHEl ULSwrs
'smoaQams agb Qsrdme aiQurps wsar Wsonsl LwELRSZLE?

[A]l  Sewésyeana grgis@ellar Qurs
[B] eswer @afler Qumns

[C] &iflled gnas @allar Qumg

[D] vaeirl grfg el Gunwps
[E] el Ggflwalldena

147. What was the first challenge in the political sphere faced by the

“Women'’s India Association” ?

[A] Right to Property [B] Right to Education

[C] Right to Re-marriage [D] Right to Vote

[E] Answer not known

“Qhglu Queirsdr ol Yrdud smssld &5F55 P Fauned arg?
[A]  Qerggflenwo [B] a&aall 2w

[C] wywerd Yy 2flew [D] anégfenw
[E] afloL Qsflwalldena



148.To create a class of people “Indian in blood and colour, but
English in taste, opinion, morals and intellect” was the intention

of :

[A] T.B. Macaulay [B] Henry Vivian Derozio

[C] H.S. Olcott [D] Raja Ram Mohan Roy

[E] Answer not known

“@rsssslad plosslgd @hslupmsaid, remenila, s@sgle. gussApglasa
Iflalle yuslCousrsay Qméew @@ wésa Uflalamy o Garégsed
CaairGun’ aarp Cpréasmss GanemrLeu :

[A]  gN.QwssnCa

[B] Gewerg) aflaflwar QLCyrdGwn
[C] Qapé. erab. gy s

[D]  @prgnpmd Corser gmu

[E] afllor Ggflwalldena



149. Identify the reason why Mahatma Gandhi went on a fast unto
death at Poona in 1932,

[A]

[B]

[C]

[D]
[E]

Failure of the Second Round Table Conference.

Issue of Communal Award.

Refusal of Viceroy to commute death sentence of
Chittagong Armoury raiders.

Government’s refusal to release political prisoners.

Answer not known

1932 g1b yar® yamalled snpglugser sTEL aueamy e.ararallyzid
CopQarerers smyamd ergibleucnsd &eir(enis.

[A]

[B]

[C]

[D]

[E]

@ram_reug) el Guoens BT igar Camaall.
agluy amfl efao GeeflulliulLg.

flLsm S ussalLnE ysalrsliunais@ss allglésiulL
wrem sar_eaaren rel LNrsInlg) Ganés LNSss.

Srdlued msglsmer allpsma Giu s LNSSS.

afln Ggflwalledene



150. (i) The British had to appease the Indian nationalists and the
outcome was the passage of the Government of India Act -
1935.

(ii) This act provided for greater power to the local governments
and the introduction of direct elections in 1937

Which of the above statement/s is/are true ?

[A] (i) only. [B] (ii) only
[C] Both (i) and (ii) [D] None of the above

[E] Answer not known

(i) usCaursenée @pslu CsAluanglsmar glHUSILESS Ceuamriw
Blaoo giuirg. osar QeafliurCL 1935-gyb gyeargar @b

STEMRI&EE FLLIONGLD.
(i) Q&slL, ceamidl YrasEnse Isls Jyslemd  apBEluCsnE),
1937-g b gy aigad Crrgs Corgmawyn ymlwsd Qsiisg.

Cuba srariu@n spysae sflurasg/ma aglama?
[A] (i) wLEuw. [B] (ii) wLEW.

[C] (i) whmw (i) [D] Copsai aemeuwsldame.
[E] afleL Qgflwallcdena



151. Assertion (A): Karikala Cholan was distinguished as “Ponnikku Karai
Kanda Bhoopathi”

Reason (R): The stone construction named Kallanai, a masterpiece in
Water Management fitted with water canals was
constructed by Karikalan.

(A) [A]is true, but [R] is false.
(B) Both [A] & [R] are true; and [R] is the correct explanation of [A].

(C) (A) and (R) are true.
(D) [A]is false, but [R] is true.

(E) Answer not known
appg (A : ‘Quraralls@s sap saL yus)l’ aar sflsred Gempar ApliNésiu@alprar.
sipawmd (R): faop QpIUL@SED amissrdseamd @oamdsiulL  soaélphs
sHsL(Lranonglu sooamear sflaroamd sLOULLg).

(A) (A) &fl gyammad (R) saum

(B) (A) wpgd (R) @raw@w &fl. Cogw (R) aaug (A) alhgs sflunar
aflaré&wnEL.

(C) (A) wpmd (R) @rawpd Heum.

(D) (A) saupy yema (R) &,

(E) allane Qslwaldeme

152. What is the second line of the verse from Purananooru that begins as
follows?

“Yadhum QOore Yavarum Kelir”

(The world is my Country, all countrymen my kindred)
(A) “Theethum Nandrum Pirar Thara varaa”
(Boon or Bane does not come from others)

(B) “Undi Koduthor Uyir Koduthore!”
(One who feeds gives Life)

(C) “Unbadhu Naazhi, Uduppana Irande”
(For eating a measure, for dressing just two)

(D) “Thuippom enine thappuna palave”.
(If savored alone, much is lost)

(E) Answer not known



“wrgh eaCy wraimn Gaafli” - ey GsrLEED yppramppiur e @rei_reug)
Silg. 6T

(A) Sgb pary Nprsy eumym

(B) 2aig Gar@sCamm 2ullit Qan(sCsnCy
(C) 2aiug pryfl e Eliuer @ramGL

(D) guiGumbd eraflGar sliyer LoGa

(E) el Qsflwallcena

153. The message related in the Purananooru verse

“Yaanai pukka pulam pola,
Thanum unnaan,; ulagamum kedume....”
(As the elephant destroys the field, so does the King’s taxes does not benefit

himself and destroys the world).

1) Tax abolition.

2) Reduction of Tax.

3) Regulating Tax Collection Methodology
4) Tax Evasion.

(A) 1 only.

(B) 2 and 3 only.

(C) 1 and 2 only.

(D) 3 only.

(E) Answer not known



“wrenar U&s Lo Gume

STEd o amemnan; 2swb 0a(CL” - aab Uppramdinl UTL eamisgid &nssl
1) aflenw guflgge

2) afld@enpliy

3) afl agdlégn papau gUREUOSSS®

4) aufl guily

(A) 1 LLED

(B) 2 wnmd 3 wLp
(C) 1 whmd 2 LLEW
(D) 3 LW

(E) afle Ggflwallcene

154. Which is the Grammatical literature pioneered by “Tholkappiyam” ?

(A) Thirukkural
(B) Moodhurai
(C) Nannool

(D) Neethi Venbaa

(E) Answer not known

QsrasriNuggler afigons alangn Qossear Fo ag ?
(R) BlGéeDd

(B) @pgieny

(C) merened

(D) B8 Geuamrum

(E) eallo Qsflwallcdema



155. Match correctly the excavated things with their corresponding
excavation sites.

(i) Golden foils

1. Thirukkampuliyur

(i) “Rouletted” potteries made in Rome 2. Aadhichanallur

(iii) Sun & Natural Objects 3. Vadamangal

(iv) Fort wall (Compound Wall) that is - 4. Uraiyur
3000 years old

(i) (i) (iii) (iv)

(A) 3 4 1 2
(B) 2 4 1 3
(C) 4 2 1 3
(D) 1 4 3 2

80y Qsn@ésiiu@erer sarELyliysmer g6 eaiaEhLer ASTLTLLESS S

() SESLILLLRISGE

1. lméambaflyyi

(i) Grmomyfufled QawiwiulL QretelLL

QLD LDGTLIMGHTL &6 - 2. g ElEsnagT
(iii) @Mlwer LHYL Fupams o Heurisa - 3 aLLES
(iv) 3000 yarhaer Lpenw anlhg ahnsaar - 4 apyl

(i) (ii) (iii) (iv)

(A) 3 4 1 2
(B) 2 4 1 3
(C) 4 2 1 3
(D) 1 4 3 2

(E) Answer not known



156. The graffiti symbols of Keeladi are similar to which one of the
following civilizations ?

[A] Sumerian Civilization [B] Nile River Civilization
[C]Indus Valley Civilization [D] Yellow River Civilization

[E] Answer not known

Speular Spavsa | gifsd Naamd aps prefssCsend) @uuConéss sgwuama ?
[A] &Cwflu prafsw [B] anpad B3 Brafai

[C18l5g swlleefl prafan [D] weEhser 551 Braflsw

[E] alln Qsflwafldena

157. The carbon samples collected by the Department of Archaeology,
Government of Tamil Nadu from the excavations of Keeladi after
having been analyzed indicate that all the six samples fall between:

(A) 2" century BCE and 2" century CE
(B) 6% century BCE and 3™ century BCE
(C) 4% century BCE and 6™ century CE

(D) 3™ century BCE and 5™ century CE
(E) [E] Answer not known

Sy gspaniallar Curg sUlpErh yrdlar Asradalusd gapured CesfldsuulL
sflo  wrelflsar, uELuUMley Qeuwiulrgled Hapfla sreb  agCear
Sfluiupalng 2

(A) 8.y @rawLmd groprer® wse &0 @rawind Froprew@ euany.
(B) &l QoMb HIHpTar®) (pse &l.4p apeyId FIHHTETE ey,

(C) &l Brarsmd ropram® pse &1 yomd FHOTETE aeny.
(D) &l epeprd Eroprer® s &0 pHsMd ErHorarh cueny.
(E) allo Qsflwallcema,



158. (i) Dharma, Atharma, Kaama and Moksha are the four fold
classification of Indian Philosophy.

(ii) Tholkappiyam and Sangam literature speak only the first three.

Which of the above statement/s is / are correct ?

(A) (i) only

(B) (ii) only.

(C) (i) and (ii).

(D) None of the above.

(E) Answer not known

(i) s, SsiwL, &row, CoLILED eap braE eams uTGUILeL @HElws

ssgaumsa @ylll@alamer.

i) Qsrovsmiflun v shs Qosdlutisd wsd ey amssmer WLLAGL

eludip&emen.

Cuopared spmsafled &rﬂu.lrrmgj/mm agl / aeel?

(A) (i) L@

(B) (i) wL @b

(C) (i) whmb (ii)

(D) CupsemL b .

(E) el Qsflwallcdema



159, M rrrrrrr are the

eyes of all human beings”

In the above Thirukkural, which one of the below are identified by Thiruvalluvar as
the eyes of all human beings :

(A) Virtue and wealth
(B) Impartiality and self control
(C) Wealth and love

(D) Numbers and letters

(E) Answer not known

! o Wiy QD
sarQamaiy any wuijse

Guopasramd Flmsenelle ame GramaL gHaedEhe] saTaEhéE @UUTES &n&pn?
(A) Sind GummEsL

(B) 56y Blanavenwowld SjL&&(panLanidiLd

(C) QurmEnd Qe

(D) aarayd (Wi

E) aflen Qgflwalldrena

160. “Dare to do a thing.........crveverieranns

As per the above Thirukkural, how should we enter an action?

(A) After accumulating enormous wealth
(B) After charity

(C) After a mature thought

(D) At an appropriate time

(E) Answer not known



.................... gienfllas smwd FenflhsLer

.................... aau Zpse

aaany @n swudld FOUL Caar@b aar Slmadepeas Copaglu @nafla
Sifloynsgalpni?

(A) Blenpwls Qurer Cegs Ulng

(B) snamd Gl LNp@

(C) paipras 58158 SisHEL Une
(D) 845 stabHlH

E) allne Qgflwadame

161. “Speak out your speech, when once 'tis past dispute
That none can utter speech that shall your speech refute.”

What does Thiruvalluvar mean by “that shall your speech” ?

(A)
(B)
(9)
(D)
(E)

A synonym of the word used by you.

A substitute word.

A translated word for the word used by you.

That word of yours which cannot be won by others.

Answer not known

“Qeragus Qeraaal NNCsmsmd g&dsrdme
Qaudquessmed @erenn oMbz "

- “gEderaiene ” aar FlmaerEheul 2@LLg aag ?

(A)
(B)
()
(D)
(E)

prsd Lwau@sslu Qurmefled Caulpmm Qame.

QeragiéE wrors CamyGsnd.

Prse LwaL@sSlu Qerdqse Caupmawrnds Qand.

wppaisaed Ceude PyUTs 2RsEHmLL C&meD.

aflan Qsflwalldene



162. M. if they fail to control it, their words will lose weight
and sorrow and grief will overwhelm them”.

In the above Thirukkural, Thiruvalluvar emphasizes the importance to control
one’s tongue. According to him, this is applicable to :

(A) The wealthy

(B) The Poor

(C) The Good human beings
(D) Everyone

(E)  Answer not known

GT&Tés STaN&E&Ne

Ganamiuir QeraelpsELl LLE'
Copaflu slméenaled Fmaedealr praLsssms updl smpslpr - @uueary daumsEL
QurmpgLd ?

(A) Qunmer 2L

(B) Qungmer nConmée

(C) paGanmaeg

(D) Sjenaneumé@Ld

E) aflen Qgflwalldrena

163. “Incomings may be scant; but yet, no failure there,

If in expenditure you rightly learn to spare”.

What do you infer from the above ?
(A) Work hard to increase your income.

(B) Though income is limited, one can live without any misery, if
the outflow is carefully managed.

(©) Completely restrict the outflow regardless of your income.

(D) Increase both the income and the outflow.
(E) Answer not known



“gpan parafliy srulgy Caigdeane
Curar psané semL"”

-Guparayd Gpafled Qmba el Syfleug wng?

(A) areal QuBsGUSNGS syarors 2mpss CeeRLb.
(B) Qsaemas &seuemons GCoeraian Qslgrd ape @apanamb adalss

glaruwslengl ey g,
(C) aa assamsusnfigd Gsaallar Aumsssms WYmbLTES sLALLESSS.

(D) arey, Qsaey @rameLwbd glsfsgs Qanerer CouamriLd.
(E) el Qsflwallcdena

164. Match the following:

(1) e . (a) Need to encounter with
all the rest is nothing but trash to cheerful face
him”
(i) ™ When trouble comes.................. (b) Knowing the fittest time

(iii) ™ like the stork or crane with folded (c) Learning

14

WINGS. .ot
(i) (i) (i)
(A) a b C
(B) b C a
(©) C a b
(D) C b A

(E) Answer not known



Spssneuapepl QUTmSHS :

() s (@) QarpasCsanh agltandrer Couemrig
.......................... DILQOQ WHDweme” Siaudlwib
(i) “QESSET QUMESTED .....cooocenees (b) eflurer epsmiLn Hflbs
................................................... g QewaLpga
(i) “QarE0&E1EE DU .................. (c) &aall sHmed
s (|) ......... (“) ............ (“I) .
(A) a b C
(B) b C a
(©) C a b
(D) C b a

(E) aflen Qslwalldene

165. V'TO USE .civirscmsereriersassassassansanssnssnnss is to
make choice of unripe fruits to ripe fruits”.

In the above Thirukkural, according to Thiruvalluvar, which one, when
spoken is equivalent to choosing unripe to ripe fruits ?

(A) Truth instead of falsity.

(B) Rebirth instead of the current birth.

(C) Bitter words instead of sweet words.

(D) Talking about arrogance instead of humility.

(E) Answer not known.
' S o)

safl\mius smisais sHm
@éepale Hradamar, 'Toss agag salllpsen Curg stous safusHe
QUUIEL eeralpm ?

(A) earawuiBésl QUi spe.

(B) @i @més vy udé spe.

(C) @aflluemes @més Qaramsg sne.

(D) SL&sWLMLEGL Lglons SLssUlarew uPmll Cusaug).

E) aflen Qgflwalldrena



166. Match the Marriage Assistance Schemes of the
Government of Tamil Nadu with the respective names

given to each scheme :

Scheme Name
a) Marriage Assistance for poor girls 1. Annai Terasa
b) Widow re-marriage assistance 2. Muthulakshmi Ammaiyar
) M_arnage assistance for orphan 3. Dharmambal Ammaiyar
girls
d) Inter-caste marriage assistance 4, XOova!ur Ramamirtham
mmaiyar
a b (o d

(A) 4 3 1 2

(B) 2 1 3 4

(C) 1 2 4 3

(D) 3 4 2 1

(E) Answer not known

86 Qsr@ésiu@aar sulps Syrdler Fmwear 23all§ Sl msmar JHaupflpe
GLLUULRerer QuuiraGern@ Qur@ssayd :

glLLLD Quuwir

gepll Quamser glmwear 2.galls
BILLD

b)  allgemes byweard FLLL 2. (PSEOL&S) Jjbendwnf

1. Sjeenar Ggyen

o psrampl QuarsEnéstar 8mwea
2 gafl§ lLLLd

3. gforbumer Sybenwwm

d @8 byuys slewar 2salls SliLn 4. pagnt Grmomslisid

S|enLowy
a b C d
(A) 4 3 1 2
(B) 2 1 3 4
() 1 2 4 3
(D) 3 4 2 1

(E)  Answer not known



167. The aim of the “Cradle Baby Scheme” of the government of Tamil

Nadu is :

[A] To promote mother-feeding.
[B] To ensure delivery of babies at Hospitals.

[C] To provide immunization to infants.

[D] To eradicate female infanticide.
(E) Answer not known.

5Ulps réler Ay GRimss S L5356 Cprésw ;

[A] smiluned el (amg 2as@allssed

[B] bEHsFawaasasd GLimsLGLn Blspams o nslasiises
[C] #lassendanar CHMUSEOLY Wepsamar auPEIEGSHD

[D] Ouair §laé Qaraasmar @Lfl5s6a

[E) alleoL Ggflwalldana

168. Which one of the following is not the journal that carried on the
effective propaganda of self-respect ideals?
[A] Kudiarasu
[B] Revolt
[C] Swathesa Mithran
[D] Viduthalai

[E] Answer not known.

Spéarggd prCer@aefler suAuranss smsgsasamer fpliurer wepulld uFlyer
Qeiung préer@® eyl ?

[A] G4wrs

[B] yrLé]

[C] &Cgalls 8\ e

[D] aflhsema

E) el @gflwalldena



169. (i) The concept of welfare state had its origin in Western Europe
after the second World War.

(i) The main idea of welfare state is that the government should not

play any vital role in human development.

Which of the above statements is / are true ?
[A] (i) only. [B] (ii) only.

[C] Both (i) and (ii). [D] None of the above.

[E] Answer not known

()  L&&ET HR IYT& aabd sHSSTEsL GremLmd easl Curmsgl Ueararm Cohe
oGrmiuralled gHULLgnELb.

(i)  w&&6T HR Yrélar psaens Flhseman ereLg Hremmad wafls eerrédlulle
abs @ (P&l UBElmenyd QyONE sLTg TaLSTELD.

CopseirL sappaefiad sflurens gl / aene ?
[Al (i) L (B] (ii) LW

[C] (i) Hmyd (ii) [D]  Cupsei_ g Gaoma
E) aflo Qgflwallcdena



170. Assertion (A): In the contemporary society, some people are tempted

Reason

towards “Hero worship”. This is not a healthy trend.

(R): Rapid Urbanization creates a sense of being rootless. This

inturn creates a longingness “to belong somewhere / to
somebody”. Therefore, some people are attracted towards
the Heroes. It induces a blind following and thereby
inhibits a critical thinking of one’s own socio-economic
problems.

[A] (A) is true, (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation of

(A).
[C] (A) is false, (R) is true.

[D] Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

[E] Answer not known

Gahn (A

snyam(R):

Qarepu  spsmwsgle  fleor  “prwus  ayluriar”  Cprés)
rissLLQE DTS @5 @n I Crréslubrar Curég Syda.

I5l6as  parowWLIESd Hamse Haisd sHsarg Ceursemen
QuigallLg Gurary g carmallmear ghuRss8lng. Q5 Qssmsw
purseflL graser “gCsqd @ QLsmzbur BueyGwn”
sMpglmés Caar(b aan géssams ghubhsssing. aamCasne,
Qarsear yapAupn weflsiamer Conés) ridsiu@Slamart. Q3 SiHs
prusisenar  seavgpsseronsl  Ulauppeuems — ead@allliLganme,
Sjasdr  sEsEHOLW  Fps, Qurmarnsmrl  Upssomasd  @nl5s
glpamia)l yieiwns Spgléen glpmer agelpsss Qsislpg.

(A)  (A) &l gpama (R) saug

[B]  (A) wpmd (R) @rer@id &fl, Coauo(R)aarug (A)-allpg sflwnar
afleraLb.

[C (A) aum Syamad (R)&

[D]  (A) wpmd (R) &), gy emed | rairug) (A) -allh@ sflunar aflaréswaa.,

E) eflo Qsflwallcema



171. Which of the following pair is correctly matched ?

Scheme Chief Minister
[A] Noon Meal Scheme i) J. Jayalalitha
[B] Cradle Baby Scheme i) K. Kamaraj
[C] Samathuvapuram iii) C.N. Annadurai
[D] Nutritious Meal Scheme iv) M. G. Ramachandran

Spéasar_aupper sflurs QurEGSsLILLRerer Genam erg ?

LLLD WFOMDEET
[A] walu 2ameyd SlLLLD ) Q. Qguedgt
[B] Qgmige @mimss L LD i) @ smong
[C] swégaypd i) &np. SjaTawngeny
[D] &dgameyd HILLLD iv) w.Gar. @rrogsnslren

E) aflle Qgflwallcdena

172. In the 1962 elections, the Dravida Munnetra Kalagam (DMK) was
supported by Swatantra Party. Who was the head of the latter party
at that time ?

[A] E.V.K. Sampath [B] C. Rajagopalachari

[C] K. Kamaraj [D] Omanthoor Ramasamy

[E] Answer not known

1962-9y1b 9y ar(hs CargallarGung), glrrallL werCarins spssams asbslpns &4
951588, UGN &5581Tmé s duller senaarts @EmHsaT wry ?

[A] w. Qeu. &. &wbuG [B] & @mgCaruransent]

[C] @ smopng [D]  quhgnt @rmosns)
E) aflo Qgflwallcdens



173. Which Chief Minister introduced the Mid-day Meal scheme in
independent India ?

[A] N.T. Rama Rao [B] V.S. Achuthananthan

[C] M.G. Ramachandran [D] K. Kamaraj

[E] Answer not known

555817 @bgluraflled ww eamed SlLLsams N PsIURSSIL WSDMEST Wi ?
[A]  @al. 4. @proryrel [B] afl. erab. SyFasnensen
[C] wGar @rrossnslyar [D] @ smogrg

[E] aflloL @gflwalldena

174. Assertion (A) : Agriculture continues to be the largest employer in
Tamil Nadu.
Reason (R) : Non-Agriculture sectors are yet to generate enough

employment to effect a shift of labour force.

[A] (A) is true. But (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation
of (A).
[C] (A) is false. But (R) is true.

[D] Both (A) and (R) are true. But (R) is not the correct
explanation of (A).

[E] Answer not known



app A: sdlpssglad allastuCo 9gls pUTsEREE Cameamiilfoa aprsls

Qamanriy. (h&&1ng).
smyemd (R): 2aplunariser srseng Qsnflosmer wriflés QsrdreughEs Coamauwnar
SerallnE CaumaaumiliLsenen allagmuwang glenmaar
2 maundsalldane.

[A]  (A) &f] gpamad (R) saupy

[B] (A) wpmd (R) @raw@d &f, Coqud (R) aerug (A)-allh@ sfluren

aflergs g L.
[C] (A sy gpamed (R) &

[D] (A) whyd (R) @ram@w s&fl, yeama(R) aeaug (A) -allhg &flwurar
aflaréaaa.

[E] afle Qgflwalledena

175. Which of the following pair is correctly matched ?

City / Town Industry
[A] Ranipet i) Leather
[B] Namakkal ii) Fireworks
[C] Erode iii) Poultry Farms
[D] Sivakasi iv) Power looms

[E] Answer not known

Spssar_apged aps Qenaw sflursl QurmssiLLGaeng) ?

OTH&NLD / B&FLD Qsmflpsrens
[A]l @rrefluGuLenL ) Gema
[B] Bmnése 1) TR
[C] wmCGpn{ iii)  Gamdll Lerenaw s
[D] Heusnd) V) leng ]

[E] afle Qsflwalldden



176. If P denotes +, Q denotes -, R denotes X and S denotes +, which of

the following statement is correct

[A] 36R4S8Q7P4 = 10

[B] 16R12P49S7Q9 = 200
[C] 32S8R9 = 160Q12R12
[D] 8R8P8S8Q8 = 57

[E] Answer not known

P @eiLgl +, Q aeiLgl -, R araiLgl X whgd S ararug + erafler SPsaemrauple
ag sfluner sapg ?

[A] 36R458Q7P4 = 10

[B] 16R12P49S7Q9 = 200

[C] 32S8R9 = 160Q12R12

[D] 8R8P8S8Q8 = 57

[E] allen Qsflwalldene

177. A Clock seen on a mirror shows quarter to three. What is the

correct time shown by the Clock ?
[A] 8 hours 15 minutes.
[B] 9 hours 12 minutes.
[C] 8 hours 17 minutes.
[D] 9 hours 15 minutes.

[E] Answer not known



@® ssmd sarammewlle urrs@w Curg Cprd 3 wefll gs 15 Pliltsed ey
aeré s1_(&ng aafle) spsmysgler sfluren Cpyw 2

[A] 8 wenfl 15 BllL_Eisar
[B] 9 wenfl 12 BlSLmiser
[C] 8 wenfl 17 FISILRis
[D]9 wanfl 15 Blb)L i
[E] aflen Qsiflwallcdenay

178. If the volume of a cube is 1000 cu.cm, then find its surface area ?

[A] 100 sg.cm
[B] 400 sg.cm
[C] 500 sqg.cm
[D] 600 sg.cm
[E] Answer not known

QW sasgréslar sar jere) 1000 5.05.5. aaflled Yyser ypliugifomeas sreairs 2

[A] 100 &.0&.8
[B] 400 5.0.8
[C] 500 &.08.8

[D] 600 &08&.5

[E] alln Qsflwalldene



179. A book contains 120 pages. Each page has 35 lines. How many

pages will the book contain if every page has 24 lines per page ?

[A] 170 pages

[B] 180 pages

[C] 175 pages

[D] 185 pages

[E] Answer not known
galanm usssglan 35 aflsmas Csrai Lssssslear Corssl usshser 120
aefld geldarm usssslgw 24 aflsams @Q@psrd UYSsss3lar Qurssl
LESEE aHFmanuns Qmég ?

[A] 170 U&SREIGET

[B] 180 u&sm&ar

[C] 175 U&&RI&E

[D] 185 u&sm&e

[E] aflen Qgflwallcdeney
180. 12 men can complete a work in 36 days. In how many days will 18
men finish the same work ?
[A] 16
[B] 24
[C] 26
[D] 54

[E] Answer not known



12 gyraar g Camawmu 36 prisedld Qsug wysdlaperr. 965 Caummeau 18

Isar arsgamer prasefle GFg wuLuriser ?

[A] 16
[B] 24
[C] 26
[D] 54

[E] allan Qg lwafldeme

181. The product of two numbers is 432 and their LCM and HCF are 72
and 6 respectively. If one of the numbers is 24, then find the other

number ?

[A] 16

[B] 18

[C] 22

[D] 36

[E] Answer not known

Qm aarsellar Qumsspues 432 whgd Smaselea B, wHyd BT
weapCu 72 whgb 6 Y. Jdbaarsals en aar 24 aafld wHGDIEH Tarmams
SR ?

[A] 16

[B] 18

[C] 22

[D] 36

[E] allan Q3 flwafldene



182. Find the total amount if 15 % of it is Rs. 3000?
[A] Rs. 18,000 [B] Rs. 20,000
[C] Rs. 21,000 [D] Rs. 25,000
[E] Answer not known

@0 Qsrenauller 15 % ereiiugl (. 3000 aafled ysOsTNEMWLE Snais 2
[A] (5. 18,000 [B] t5. 20,000
[C] (5. 21,000 [D] . 25,000

[E] allen Qsflwalldene

183. In a class, 40 % of students are boys. 60 % of girls are rank
holders. 40 % of students are rank holders. Find the number of
boys with rank, if class strength is 50 ?

[A] 2 [B] 4

[C]16 [D] 8

[E] Answer not known
e® agllld 40% Guir wrareaised. 60% wrarallsd gy QupnaTse. Qs
wrames, Lreawallurselld 40% grd  Quppaisd. agldla Gworés wrama,

wrarellwiseller aanafléans 50 eaafld, s7o Quip wrameursellar eemenldma

aTanen ?
[A] 2 [B] 4
[C]6 [D] 8

[E] aflen Qgiflwallcdenay



184. Arun drives 120 miles at 60 miles / hr and then drives the next 120
miles at 40 miles/hr. What is his average speed for the entire trip ?

[A] 42 [B] 48
[C] 50 [D] 54

[E] Answer not known

SAmHE aaLai gn ansasms 60 awdsd | wafl adp Cassgld 120 amwdse
gL@pri. et 40 owasd | vell adp Cassdld 55 120 @waser
gL@alprr aafld Qwrgssgled arg syl Causd eder ?

[A] 42 [B] 48
[C] 50 [D] 54

[E] aflen Qgflwallcdeney

185. In a flower garden, there are 23 rose plants in the first row, 21 in
the second row, 19 in the third row and so on. There are 5 rose

plants in the last row. How many rows are there in the flower

garden ?
[A] 12 rows [B] 10 rows
[C] 11 rows [D] 13 rows

[E] Answer not known



@0 WwHGsT L8l wsed aflmsudld 23 Grrgrs Osgser, Qreimd aflesulsd
21 Gyngrg Qeyser, gperpmd aflmsule 19 Corgre Qeyser aar g@m OsTLT aflas
ool oeamar.  soLsl aflesdld 5 Cprgre  Qsgsd  @muller

ILYHCSMLSS1D erssemer auflengser o ererer ?
[A] 12 aflensser [B] 10 aflengser

[C] 11 aflensaar [D] 13 auflengser
[E] allan Qg flwafldeme

186. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is

31. Find the value of x. ?

[A] 35 [B] 36
[C] 25 [d] 26
[E] Answer not known

18, 41, x, 36, 31, 24, 37, 35, 27, 36 Qapdlar syrefl 31 aafld x Qe

Y aeier ?
[A] 35 [B] 36
[C] 25 [d] 26
[E] allan Q5 flwafldeame
187. Which one of the following numbers is exactly divisible by 11 ?

[A] 235641 [B] 245642

[C] 315624 [D] 415624

[E] Answer not known



dpssaiL aansalle 1 g Bglullen] aguEb aar ag ?

[A] 235641 [B] 245642

[C] 315624 [D] 415624
[E] alln Qg flwafldene
188. What is unit digit in the product 784 x 618 x 917 x 463 ?
[A] 6 [B] 2
[C] 4 [D] 8
[E] Answer not known

784 x 618 x 917 x 463 aeip Oumssadsallsd geapreg Qassw aaer ?

[A] 6 [B] 2
[C] 4 [D] 8

[E] allan Qg flwafldene

189. Find the compound interest on Rs. 1,000 at the rate of 10 % per

annum for 18 months when interest is compounded half-yearly?

[A] Rs. 157.62 [B] Rs. 157.63
[C] Rs. 157.61 [D] Rs. 157.60

[E] Answer not known



J@puraisg ¢n (o el JFgLe GCerdsiurimed . 1000-5@ yamid iy

aigd 10 % aigliLyg, 18 LISHSESGS sl () ally sTemayd ?
[A] (5. 157.62 [B] (. 157.63
[C] (. 157.61 [D] 5. 157.60
[E] alln Qg flwafldene

190. If the rate of Compound interest is 12 % per year and compound
interest is calculated every 3 months, then what is the total amount

after 9 months when the deposited amount is one lakh ?

[A] Rs.1,09,000.00 [B] Rs.1,09,060.00
[C] Rs.1,09,060.30 [D] Rs.1,09,272.70

[E] Answer not known

GLO aly did Y@@sE 12 % aap dsssld 3 wLIESIINE @G YD
sawssILiUpD aafld @ ols munl Oegdsiull e 9 wrsw sflss Qurss
Qsrens erelauere) ?

[A] .1,09,000.00 [B] 1.1,09,060.00

[C] {5.1,09,060.30 [D] (5.1,09,272.70

[E] alln Qg flwafldene



191. If A:B=4:6,B:C=18:5, Findtheratioof A:B:C?

[A] 12 :18:5 [B] 12 : 5:18
[C] 18 :12:5 [D] 5:18:12
[E] Answer not known
A:B=4:6,B:C=18:5, aafléd A:B:Culler alldlzsmss snews ?
[A] 12 :18:5 [B] 12 : 5:18
[C] 18 :12:5 [D] 5:18:12

[E] aflen Qsiflwallcdenay

192. How many numbers are there between 200 and 400 which are
exactly divisible by 3, 5 and 6 ?

[A] 8 [B] 9
[C] 7 [D] 6

[E] Answer not known

200-5@ 400-5@D QeLCuyder Qud aarselled 3, 5 whmd 6 Salu e
aarsamas Qstar® Bglulen U@L aearsd dssmen ?

[A] 8 [B] 9
[C] 7 [D] 6
[E] alln Qg flwafldene
193. In a class of 80 students, 65 % are boys. Find the number of girls ?
[A] 35 [B] 28

[C] 52 [D] 38

[E] Answer not known



80 Guir Gsrei. agluapud 65 % Guir gyearsd aafld Oueisdle aeaamlsms

THsenen ?
[A] 35 [B] 28
[C] 52 [D] 38

[E] el Qgflwafldama

194. Choose the best alternative of White : Peace : : Red : ?
[A] Roses [B] Heart
[C] Violence [D] Danger

[E] Answer not known

fl&& sfluner @armg)g, ng@@g@gg Qurr@g,ge, :

Qeudenar : gjenivg) : : Fleully :
[A] Gpmegm [B] @sww
[C] auanpenn [D] Qjumuw

[E] aflen Qgflwallcdeney

195. Rs. 120 is divided among A , B and C such that A’s share is Rs. 20

more than B’s and Rs. 20 less than C’'s. What is B’s share ?
[A] Rs. 10 [B] Rs. 15
[C] Rs. 20 [D] Rs. 25

[E] Answer not known



A, B opgd C a6y gpeigy Fuiser . 120 - g uslipgy OsnergrdCung, A-ei
uE@ B-at LuBemsaflL . 20 &@sersa)0, C- a1 uEmsallL @M. 20 G@parsad

AmHsmed B-a LEEG aalada) ?

[A] . 10 [B] (. 15

[C] (. 20 [D] . 25
[E] aflen Qsflwallcdeney

196. If the sum of two numbers is 24 and their product is 108, then find

the sum of their reciprocals ?

[A] 2/9 [B] 3/7

[C] 5/7 [D] 9/2

Am aarseller m@zed 24 wppd eapdlar Aumsss 108 aeafld yebauairsaflear
goadflseflar mpssd sneirs ?
[A] 2/9 [B] 3/7

[C] 5/7 [D] 9/2

[E] allan Qg flwafldemne

197. Find the rate percent per annum when a principal of Rs. 5000 /-
earns a S.I of Rs. 1600 in 16 months ?

[A] 20 % [B] 22 %
[C] 18 % [D] 24 %

[E] Answer not known



®. 5000 squé@ 16 wrzmselle @ 1600 safllaly HaLssmd, aly cfssmss

TGRS ?

[A] 20 % [B] 22 %
[C] 18 % [D] 24 %
[E] alln GQgflwafldene
198. The population of a village has a constant growth of 4 % every

year. If its present population is 32448. What was the population

two years ago ?

[A] 31424 [B] 28868
[C] 30000 [D] 31242

[E] Answer not known

@® slrmossler wéser Agreas gy fmms galCan® YL 4 % s QaramiCL
Qsadlpg. QuOungs g6 wisd Qgrams 32448 aafld Qraih JYarhaEHEE
et LE&ACGINS TaiaTaus QEHHSMEGL ?

[A] 31424 [B] 28868

[C] 30000 [D] 31242

[E] allan Qsflwaflcdena



199.

200.

The area of a quadrilateral is 525 sq.m. The perpendiculars from
two vertices to the diagonal are 15 m and 20 m. What is the length

of this diagonal ?
[A] 25'm [B] 30 m
[C] 35m [D] 45 m

[E] Answer not known

@® Brpsrdgler upluere) 525 & 5. oper Q@ sflsalldImps WeaaalllLsslne
aeruiu@L Csrgsgla ferisdr 15 15, 20 15 aafld gaaalllLislear fardwerer ?

[A] 25 . [B] 30 4.
[C] 356 [D] 45 1.

[E] alln Qsflwafldena

A wire can form a square of area 36 sq. cm. What is the area of

rectangle when the same wire forms a rectangle in which one side

is2cm ?
[A] 12 cm? [B] 18 cm?
[C] 20 cm? [D] 24 cm?

[E] Answer not known

e® sblluterg &gr anadms oHarsgw Qunws Isar urliume 36 &0,
965 svllews Qsrem® 2 Os.8. @m uss eoa caLwu @@ Osdassimg

e mauns@éuny HECeaaussslear urliLae) eaar?
[A] 12 &.Qs.5. [B] 18 &.0s.5.
[C] 20 &.08.5. [D] 24 5.04.5.

[E] el Qgflwallcdene
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